4.5

y:X3+2X2—X+1, y”' yzx4|nx yu
y = NG g B m o
V14X y= X2
y:sin X3 yH ym y = X3 COS\/; yrr ym
y = x2e¥ y" y = e arcsin X y"
y = X3 €0s2X y (€0 y = (2x2 +1)sh x Yy,

1 y'=3x"+4x-1y"'=6x+4,y

2 y=4x°Inx+x®  y'=12x*Inx+4x* +3x* =12x* Inx + 7x°

2x+/1
3 y- XL x - 1/1+ 4x+3x2
3
L+x 2(1+ x)?
32 3 L
2
o (4+6x)(1+x)? —§(4x+3x )1+ x)? _3x2+8x+8
- . - 5
2(1+x) 401+ %)?
4 y=x'-x?-2Inx-x°= 1= iglnx
6Inx-5

y'=-2x"x° =3(1-2Inx)x* = i

5 y'=cosx®-(3x?) =3x*cosx®
y"=6xcosx® +3x?(—sin x*)(3x?) = 6xcos x* —9x* sin x*

y" =6c0s x> —6xsin x*-(3x*) —36x>sin x> —9x* cos x* - (3x?)

= —54x%sin x* — (27x° —6) cos X

5
6 y'=3x%cosv/x + Xx3(=sin \/;)(%) =3x? cos\/Y—%x2 sin/x
X
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3 5
y" =6xcos~/X +3x%(—sin \/;)L—%xz sin/x —%xz(cos\/;)

1
2Jx 2Jx

1, 1 3 .
= (6x-2x )cosﬁ—zxzsm\/;

1 3
y"'—(6——)cosx/;+(6x——)( sm\/—)—\/_ —%xzsm x—%XZCOSx/;%

3 1
- (6—%x)cos\/§+(%x2 —%xz)sin&

7 y'=2xe® +x%¥(3x)'= (2x + 3x?)e¥

y'=(2+6x)e™ + (2x +3x%)e¥(3x)'= (9x* +12x + 2)e**

y''= (18x +12)e® + (9x® +12x + 2)e¥ (3x)'= (27x* + 54x +18)e™

8 y= (—xz)'e’XZ arcsinx +e™* (arcsinx)'= (—2xarcsin X + )e’X2

1—x2

)e*Xz + (—2xarcsin x + )'e’Xz

. 1 1
y"'= (=x*)"(-2xarcsin X +

V1-x° 1-x°
(_l) ( 2X) -x2

= (-2x)(-2xarcsin x + e
1- X)

2 .
)e™ +|—2arcsinx —
1-x? 1-x?

2 _ 2
X(4x 33) -
(1-x%)?

=|2(2x* =1 arcsin x +

9 y® =x*cos® 2x+Cg,3x% cos™ 2x +CZ 6xcos" 2x+CZ 6cos"” 2x
=2%x%cos2x+80-2" -3x*sin 2x—3160-2" -6xcos 2x —82160- 2" - 6sin 2x
= 2[ X(x* - 4740) cos 2x + (120x* — 61620) sin 2x |

10 y©® =(2x* +1)sh®x+Cg 4xsh® x+C2 4sh®" x
= (2x* +1)ch x+99-4xsh x + 4851-4ch x
= (2x2 +19405)chx + 396xshx

n y(n)
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y =sin? ox y =2%Inx

ex 1
Y= Y =% 5516
y = e% cosPBx y =sin* X + c0s* X

1y :%(1—003 20x)" = 2" " cos(2a)x+%7r)

=2"'0" sin(2wx + nT_lﬂ)

2 Y= Cr(2)"0(Inx)® =" 22" Inx+ > Cr2¥In"* 2
k=0

k=1

n _ k-1 _ 1
=2" {Inn 2:Inx+> ClIn"™* ZM}

k=1 X

ke 1) e (DK 1)*K!
3 y():ZC:(e )( k)(;j :zc:e ( k)+l ch( k)+1

k=0 X k=0

o 1 (n)_( 1 j(n)_ N 1 ~ 1
y _(X—Sj X—2 = (D! (x=3)" (x=-2)"™

3 (x-2) (x-3)"*

= (-1 i = (2! =

|

X

.(EJ(”
X

(X 3)n+1(x _ 2)n+l

n

e~ (X 2)n k+l(x 3)k+l

5 y® =3l (e™) ™9 [cos(A)]P = Clamt gt cos(ﬂX+—)

k=0

6 y=(sin®x+cos®x)?—2sin’ xcos* x

_1—lsm 2X = 1——(1 cos4x) = 3 cos4x
2 4
(n) _ gn-1 nz
y'" =4 cos(4x+7)
x?, x>0,
f(x)=
—-x%, x<0
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x>0 f'(x) = 2x x<0 f'(x) =-2x

FA)-F(0) _ . (A)°=0 _

£/(0)= lim === lim 2=—=0
£10) = tim 1A= FO _ o (A7 =0,
Ax=0- AX AX—0— AX
f'(x)=2]x|
21 X> 0,
f “(X): _2! X<0,
x=0
0, x # 0,
n>2 fmn@:{
x=0
f(x)
o
X
[f(Inx)]" [In f(x)]”
[f(E‘X)]W [f (arc tan X)]" .

1 [FO)D= £1(x)(x®) = 2xF " (x*)
[f(x*)]"=2xf"(x*)(x?)+(2x)' f'(x?) = 4x>f "' (x*) + 2 f'(x?)

[f(X*)]"=4x*f "(X*)(X?)'+ (4x?)" f "(x*)+2f "(x*)(x*)' =8x>f "(x*) +12xf "(x*)
2 G- G -6
X X J\x X X
(4 -2 )3
| \x)] X x )\ x X X) X X) X X




2 o(Dpoa(2poce(2)]
X X X X

3 [f(Inx)]':f'(Inx)(Inx)'zw,
"(Inx)(Inx)x = f*(Inx)(x)’ _ f*(Inx)— f'(Inx)

x? x?

[f(Inx]"=-

f'(x)

4 [Inf(]= &m’

() ) - (F'(x)°

[In f (x)]"= o

o [fe™)=f'e™)(e7)y=—e"f'(e™)
[fe™)]"=—e"f ™)) () f'e™)=e"f"(e")+ef (),
[FE ] =e ™ f ™))+ (™) fie™)+e e )E™) () T 1)
=—ef "(e™)-3e > f "(e)—e*f (™)

f ‘(arctan x)

6 [f(arctanx)]'= f '(arctan x)(arctan x)' = >

1+Xx
[f (arctan x)]" = (1+ x?) f "(arctan x)(arctan x)'— (1+ x*)" f (arctan x)
(1+ x%)?
_ f"(arctan x) — 2xf ‘(arctan x)
(L+x%)?
Leibniz y™(0)
y = arctan x
y = arcsin x
, 1 . 2X . "
1 y=m,y=—m x=0 y'(0)=1y"(0)=0
y'(1+x%) =1 X N n>1
ch y(n—k+1) L+ XZ)(k) -0
k=0 "
1+x%)"'=0
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2

y'(0)=1y"(0)=0

y(n+l) (1+ Xz) + ny(n) 22X+

y(n+1) (0) _ _n(n _1) y(ﬂfl) (0)

y™(0) = (—1)%(n -,
0,

y'=(1-x%)2,y"= (—%)(1— x?) 2(1-x?)'=x(1-x?) 2 = RSN

n>1

k=0

xy'= (1—x?)y"

n
n

n(nz_l) Yy .20

1-x2

xy'= L-x?)y"

i C: y(n—k+1) (X)(k) :i C: y(n—k+2) (l— X2)(k)
k=0

xy ™ 4 ny® =y (1 x*)© _2xny ™ —n(n-1)y™

Xy(n+1) n ny(n) _ y(n+2) (1_ X2) . 2xny(n+1) _ n(n _1)y(n)

y(n+2) (0) = n2 y(n) (0)

o~ [(n—2)11
y™"(0) {0

ex2+y_X2y:O;
2ysinx+xIny=0,

1 X
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eX' (x> +y)=(x*y)'= ex2+y(2x +y)-2xy—x’y'=0

ex2+y(x2 +y)'(2x+y") +ex2+y(2x+ y)'—(2xy + X7y )"

=Y (2x+y )Y +eX Y (2+y") -2y —4xy'—x2y" =0

yi Axy'+2y —ex2+y[2 +4x% + 4xy'+(y")?]

L 2x(y—eX )

x2+y g2

€ X

2 X

sec’ (X + Y)(X+ y)'—=(xy)'=sec’(x+ Y)(L+y)—y—xy'=0

2sec’(x+ y)tan(x+ y)(x+ y)'A+y) +sec’(x+ y)(L+ y)'—y'— (xy )"

=2sec’(x+ y) tan(x+ y)(L+ y ) +sec’(x+ y)y"=2y'—=xy"=0

yie 2sec(x + y)tan(x + y)1+ y')? — 2y’
X —sec® (X +Y)

. sec’(x+y) -y
X —sec?(x+Y)

X

2y'sinx+2ycosx+1In y+§-y':0

2y"'sin x +4y'cosx — 2ysin x+2——l2-(y')2 +§ y'=0
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_2y®sinx—4y?y'cosx - 2yy'+x(y')?
Xy +2y?sin x

2y?cosx+ylny
X+ 2ysin X

y':_

3x* +3y?y'—3ay —3axy'=0

6x+6Yy(y')? +3y’y"'—6ay'-3axy"=0

_2x+2y(y')? - 2ay'
ax—y?

_ay—x?
y% —ax

X = at?, X = at cost,
y = bt?, y = atsint,

Vi-t, y = cosht.

X =t(l-sint), Xx=ae™t,
y = tcost, y =bet,
{ Ji+t, {x:sinat,

d2y  (bt®)"(at?)—(bt®)'(at®)" (6bt)(2at) — (3bt>)(2a)  3b

1 dx? [(at®) T - (2at)? 4a’t

d?y _ (atsint)"(atcost)'—(atsint)'(at cost)"
dx® [(atcost) T
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_ (2acost—atsint)(acost —atsint) + (asint +atcost)(2asint + atcost)
- a’(cost —tsint)®
(t +2)(sin’t + cos® t) t?+2
a(cost—tsint)®  a(cost—tsint)®

3 d?y _ (tcost)"[(t(L—sint)]'- (tcost) Tt(L—sint)]"
dx? [tL—sint)]®

_ (=2sint—tcost)(1-sint—tcost) —(cost —tsint)(—2cost +tsint)
(1-sint —tcost)®

t? +2—-2sint —tcost
(1—sint —tcost)®

d’y _ (be')"(ae™)'~ (be')'(ae™)" _—be'e" —be'e™ _2b ot
dXZ [(aeft) |]3 _a2€—3t a.2

4

d’y _ (1-1)"(J1+t)'- (V1-t) ' (1+1)"
o’ [(V1+) T

5

Qiﬁﬁﬁrea4f§

-1 1
T a—P VL) 2[4+ 1))

d?y _ (cosbt)"(sinat)'-(cosbt) ‘(sinat)"
dx? (sinat)®
_ b(-asinatsinbt —bcosatcosbt) _ b(asinatsinbt +bcosat cosbt)
a’ cos’ at a’cos® at
dx 1

dy vy’

6

Ay dx 3y -yy”
&y’ () CENCD%

d?x d ,dx 1
1 _2:_(__ ( )
dy dy dy y'

() dy (v dxdy  (y)

Ly 1 odydc

2
y

d3X d d2X d 3 yll _ 1 dyll yll %
3 2 - n3 +3 n4
(y) dy (y) dy

L dy"dx ooyt dyidx  y" 1 300" 1 3(y)°-yy”

(Y dady () dxdy ()P oy (y) Yy (y)
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A1+ x2 Sec X
= 2 — dz
y X dry y x2 -1 Y
y = Xxsin 3x d3y y = x* dzy
In x .
y=" dry y = X" COS 2X dny.

2 2

1 dy :%(x—tan X) 3(1—sec? x)dx = —%(x—tan X) ? tan? xdx

2

5 _2
d’y = [—é(x—tan X) 3(1-sec® x)? —%(x—tan X) 3(2tan xsec® x)]dx’

_ 2tan® x+6sec’ xtan x(x — tan X) i
- 5

9(tan x — x)?

4 4 1
2 d“y — Z[Cr (X4)(k) (efX)(4fk)]dX4 — ZCJ: kak (_1)44( e *dx*
k=0 k=0 (4 - k) '

= (x* —16x% + 72x* — 96X + 24)e *dx*

1
e (2X) X =1+ X1

y= ax = —
x? X*N1+ x?
2 2X 3x?+2
d?y =] - —+ §]dx2=—§dx2
XNLI+XT oy2(14 x2)2 X° L+ X2)?

n . 2_ —
ta xseclx 1 secx (22()]dx= sec x[(x” —1) tasn X—X] dx

4 dy=[ T 3
(x* -1)2 (x* -1)2 (x* -1)2

42y sec x tan X[(x* —1) tan x — x]+sec x[2x tan X + (x* —1) sec® x —1]

(X’ —1)g

3 sec X[(x* —1) tan x — x]- (2x) "

5
2 (x? -1)2
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secx[(x ~1)*(1+2tan® x) — 2x(x ~1tan x+2x° +1]d )
(x* —1)2

5 d3y =[x(sin3x)"+3x'(sin 3x) "Jdx* = —27(sin 3x + x cos 3x)dx*

6 dy=de" =" @+ Inx)dx = x*(L+ In x)dx

d?y =[(x*)'@+Inx)+x*(L+In x) Tdx = X*[(1+ In X)* +;]dx

7 d'y= ZC (Inx)® (= )‘n “ax"

k=0

:( Zn: ( )kl(k 1)(1)nk(nnklil)]dn

S —k>'

—1\"nl n
:( D) r]'(Inx— 1]dxn
K

n+1

n+l

X

8 d'y= icﬁ (x")") (cos 2x) W dx" = Zn: e n_! o1 (klx )2 cos(2x+—)]dx

k=0

k=0
K <k kﬂ'
n 2°X cos(2x+7)

P (k12 (n—k)!

k=0

n

10 d?(e")
X ; x=p(t)
1 d(e*)=(e")"dx =e"dx
d*(e) =d(e'dx) = (¢")'dx* =e*dx’
2 d(e)=(e")dx=e"dx=e""gp'(t)dt
d*(e") =d(e"Vp'(t)dt) =[e* V' (V)] dt* =& {[p' )] + (1)} dt®

11 f(u)  g(u) g(u)>0

u=tanx dz2f

u=+Jv v=Inx d?g
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d?[f(u)g(u)] d?[In g(u)]
dZ[jigl}

g(u)
1 df = f'(u)u'(x)dx = f'(tan x)sec® xdx

d?f = f"(u)[u'(X)]Pdx® + f '(u)u"(x)dx?

=[f "(tan x)sec’ x + 2 f '(tan x) sec® x tan x]dx’

2 u=+v=4+Inx
dg du dv o 11 o 1
= o v ax = 9 gy 6= G (I
g"(u )du dv
dzg_[ dv dx (U)(ZX\/F)
2xy/In x (2x+/In x)?
g g'(u)[2VIn X + 2x J_()] »
Tl @x/inx)? (2xv/Inx)?

_g"(/Inx)VInx - g'(Inx)(L+2Inx) e

4x21In2 x

3 d[f(ug)]=[f"(u)g(u)+ f(u)g'(u)ldu
d?[f (ug)l=[f'(u)gu)+ f(u)g'W)ld u+[f'(u)g(u)+ f (u)g(u)I'du®

=[f(U)g(u)+ f(u)g'WId°u+[f"(u)g(u)+2f (u)g'(u)+ f (u)g"(u)ldu®

4 dpng)]=9 W ay
g(u)

0'W) o g W s 9 o g WIW (g W)
I o@l=y U g T =g O oo

5 d{f(“)} f(U)g(U)—f(u)g O
g(u) g%(u)
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dz[f(u)} HOLORIOEIOPEN [f o) - f 1)y’ (u)}
g(u) 9° (u) 9* (u)

_ P -fwe'l) 4o, .
g°(u)

f"(u)g*(u) - f (Wg(W)g"W)-2f W)g'W)g(u)+2f )G W)’ 4 -

g°(u)
12.
1 (n) n i
Lx eXJ -(_il e
X
1 1 1 1
n=1  (x""ex)® :(ex)':ex(%)'z;—zlex n<k

n=k+1

1 1w roo 1 0
(anlex)(n) — |:(Xkex)':| = |:ka1eX + Xkex(_) I:|
X

’

{ kL 1}(“ {(Xk 2ax )(k 1)} —k( i)lk 2 {(—l?(kl ei}
X

( _[(1) ()“1}(1)“

yH “+ XK ex(_?)
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